Urcete dané limity:

a) limarctgx 1) liminx q) lime™
x—0 Xx—1 x—0
b) lim arctgx J) liminx r lime™
X—>—00 X—>0 X—>0
c) limtgx k) lim 5” S) lim log, ¢ X
X_)E i i
[) lim5* ) lim—x-2
d) lim arccot gx ) x>0 ) x>0
o m) lim 5" u) lim 2x-3
e) lim arc cot gx X X0
X—> -
. n) limx?
f) limcos x ) X0
x—0 A 2
. 0) lim x
g) lim arccos x x>0
X
1
h) limarccos(—x) p) lm;
X—»00
Reseni:

[2) 0, b) —m/2, ¢) neexistuje, d) w, €) /2, f) 1, g) ©/2, h) neexistuje, i) 0, j) «, k) 1, 1) o, m) 0, n) 0, 0) o0, p) 0, q)
1,1 0,s) -0 t) -0 U) -]



